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2N 230z
HE: SHRN HSPE
& 2R BEEY JIX F= (&)
SA - BB B () - MM - BES Ol &t o San HmEET
403 MtXISHHE =01 & 52,500 0 52,500
= 35,000
< 17,500
01 XS M A=2EE 52,500 0 52,500
O3JNE 23 SsLEAS 52,500
= 35,000
< 17,500
INHXNEEZEM =001 Z DI 120,954 121,590 A 636
= 120,954
403 XIS E X201 & 120,954 121,590 A 636
= 120,954
01 XXM 22 = 120,954 121,590 A 636
O=JIX& 23 =2t01&d DI 120,954
= 120,954
SHIEX 23 E+FH| 3,884,000 3,913,955 A 29,955
202 OHl 6,000 ,000 0
01 = LHA YI 6,000 ,000 0
OEXdE 23 2=FHl A 0l 6,000
403 MtXISHH S0l & 3,878,000 3,907,955 A 29,955
01 XM A2E X 3,878,000 3,907,955 A 29,955
OEXE 23t E+=&H| 3,678,000
OEXE 23t et Fl 200,000
dSAE BEEEHI 2,913,000 2,521,500 391,500
= 1,942,000
= 971,000
403 X SHHSA=0l& 2,913,000 2,521,500 391,500
= 1,942,000
< 971,000
01 HXSHMA2E X 2,913,000 2,521,500 391,500
O EAE BEFHI 1,920,000
= 1,280,000
< 640,000
ONdSAE YMWAIAE 2= 993,000
= 662,000
< 331,000
EXNZE=2 M =101 D] 97,467 97,467 0
403 Ut S S X201 & 97,467 97,467 0
01 X HHMA=2LE L 97,467 97,467 0
OEXE s =2Jt01g DI 97,467
SEE2M SHAAXA 52,100 36,200 15,900
308 XX EHSOIA 52,100 36,200 15,900
01 HIXNHHBNEES 52,100 36,200 15,900




25 230z
Ha: 2R84 HS2E
Ee: 23K 4Ao E=1 JiX| &= (2 &HH)
- RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OFRE 23 M SHEAF XA 37,100
OHM33 === SIS A 15,000
L2 S 230,100 196,500 33,600
308 XHXIEHSO|A 230,100 196,500 33,600
01 AIXSHMEMNEX= 230,100 196,500 33,600
ORE 23 8K 230,100
ESSSESSAHAP Y St=UH3 M= 7,500 11,000 A 3,500
308 XAHXIGH SO0l & 7,500 6,000 1,500
01 AIXISHENEXZ 7,500 6,000 1,500
O=S=¢EZSAP =g == 7,500
CANE23HM LA ALS 234,720 213,000 21,720
308 MXISHMSOIA 83,720 0 83,720
01 IXHHIMNEEXTZ 83,720 0 83,720
OEXAE 23 SMHEH SA2el 83,720
403 XX SHHS K201 & 151,000 213,000 A 62,000
01 XIS A2E X 151,000 213,000 A 62,000
OEXXE=23M TH &2 ] AF 151,000
ESERLSXESM 2ZAIQE HHX 234,795 245,808 A 11,013
J| 156,530
& 78,265
308 XAHXIGH SO0l & 234,795 245,808 A 11,013
J| 156,530
& 78,265
01 REXISHA 8 X2 234,795 245,808 A 11,013
OEL SX23M ZAIe= HiEX 234,795
Il 156,530
= 78,265
TANAESSM SAHA J|=(0HEY 36,000 36,000 0]
308 AMXISHMSOIA 36,000 36,000 0
01 IXHHIMNEEXTZ 36,000 36,000 0
OZXNHE23M SAHA JIZ=(0H) & 36,000
JIXNE S 2$MEd &X 288,780 314,500 N25,720
Jl 216,760
== 72,020
403 XX SHHS K20 & 288,780 314,500 N25,720
Jl 216,760
o=t 72,020
01 XIS A2E X 288,780 314,500 N25,720
O2JIXE St g ad &X 288,780
J| 216,760
& 72,020




25 230z
Ha: 2R84 HS2E
Ee: 23K 4Ao E=1 JiX| &= (2 &HH)
x 5 - 4
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
S ER2F& AR 22| 13,000 13,000 0
201 LBt 9 ]| 13,000 13,000 0
01 AP 22| H| 13,000 13,000 0]
oYt | 13,000
— 2BrH AN ZH| 13,000
SREXAESM g2 Ea@9RNE L DTHAIER A2 128,350 77,503 50,847
2l
J| 105,700
= 22,650
308 MXISHHMSOIA 128,350 77,503 50,847
J| 105,700
= 22,650
01 HXHHIMNEXS 128,350 77,503 50,847
OZLEX2IM dst2elss L dHAIER
RS 128,350
J| 105,700
= 22,650
S 2LI2LRA oA 13,670 28,562 AN 14,892
= 13,670
308 XAHXIGHHM SO0l & 13,670 28,562 N 14,892
= 13,670
01 AIXSHHENEXZ 13,670 28,562 N 14,892
O2stM&e SLIZFLI oA 13,670
= 13,670
SR SSAIY 65,000 65,000 0
308 AMXISHMSOIA 65,000 65,000 0
01 HXHHIMNEEXTZ 65,000 65,000 0
O23R 4 S ALY 65,000
H M BHBFA OISEISGUES A ALY 850,000 1,000,000 A 150,000
403 XX SHHS K20 & 850,000 1,000,000 A 150,000
01 XS AS2E X 850,000 1,000,000 A 150,000
Oxed BFAI USE SstusaHgy 850,000
3R 2EAY 210,450 208,000 2,450
= 131,300
& 79,150
308 XHXIGH S0l & 210,450 208,000 2,450
= 131,300
& 79,150
01 AIKISHHEMNEXZ 210,450 208,000 2,450
OSIMEEZ 2AIY MM ST 94,500
= 54,000
o= 40,500
O&MOls4=s AEn 8SAY 115,950




2N 230ED
Hu: 2R HSRE
SstRMe BED JIX BE SCRED

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
= 77,300
< 38,650
XS DA ¢4 16,000 0 16,000
308 XAHXIEHH SOl 16,000 0 16,000
01 HIXNHHBNEES 16,000 0 16,000
OXSOtS A &2 16,000
E}MSS ALY 760,000 783,333 A 23,333
J| 456,000
< 304,000
307 21201 A 760,000 783,333 A 23,333
J| 456,000
< 304,000
02 QB AAHFEX 760,000 783,333 A 23,333
O=stM =AY 760,000
Jl| 456,000
= 304,000
LERIM drus2 243 ALY 116,000 58,500 57,500
= 80,000
< 36,000
308 XX EHH SOl A 116,000 58,500 57,500
= 80,000
< 36,000
01 HXNHHNBHELS 116,000 58,500 57,500
ORI drus2 S35 MY 116,000
= 80,000
< 36,000
g s X2el 124,500 124,500 0
308 XAtXIEHH SOl 124,500 124,500 0
01 HIXNHHBNEES 124,500 124,500 0
Ogn KX 2l 124,500
NAS & ST 90,937 0 90,937
308 XtXIEHHSOIA 90,937 0 90,937
01 AXNSHHBANEES 90,937 0 90,937
Osgt=2 HSLAL MAHIR L ST 90,937
HE2LZH (2st0=t) 86,071 79,971 6,100
=2l 86,071 79,971 6,100
JlE2zl 86,071 79,971 6,100
201 Let24E] 20,401 18,081 2,320
01 At 22l 20,401 18,081 2,320
OJle=+=EHl 8,326
OJles gl 12,075
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